General information about company						
Scrip code	537326					
NSE Symbol						
MSEI Symbol						
ISIN	INE212P01011					
Name of the company	Chemtech Industrial Valves Limited					
Type of meeting	EGM					
Date of the meeting / last day of receipt of postal ballot forms (in case of Postal Ballot)	13-02-2024					
Start time of the meeting	11:00 AM					
End time of the meeting	11:15 AM					

Scrutinizer Details							
Name of the Scrutinizer	Shriram Imartey						
Firms Name	S.P. Imartey & Associates						
Qualification	CS						
Membership Number	5933						
Date of Board Meeting in which appointed	15-01-2024						
Date of Issuance of Report to the company	13-02-2024						

Voting results						
Record date	06-02-2024					
Total number of shareholders on record date	2499					
No. of shareholders present in the meeting either in person or through proxy	<u> </u>					
a) Promoters and Promoter group	0					
b) Public	0					
No. of shareholders attended the meeting through video conferencing	•					
a) Promoters and Promoter group	4					
b) Public	25					
No. of resolution passed in the meeting	3					
Disclosure of notes on voting results						

				Resolution(1)			
Resolution required: (Ordinary / Special)			Special					
Whether promo agenda/resoluti	oter/promoter gro on?	oup are intere	sted in the	No				
Description of	resolution consid	lered		Increase in Author in Capital Clause of				
Category	Mode of voting	No. of shares held	No. of votes polled	% of Votes polled on outstanding shares	No. of votes – in favour	No. of votes – against	% of votes in favour on votes polled	% of Votes against on votes polled
		(1)	(2)	(3)=[(2)/(1)]*100	(4)	(5)	(6)= [(4)/(2)]*100	(7)= [(5)/(2)]*100
	E-Voting	7257020	6975309	96.1181	6975309	0	100	0
Promoter and	Poll		0	0	0	0	0	0
Promoter Group	Postal Ballot (if applicable)		0	0	0	0	0	0
	Total	7257020	6975309	96.1181	6975309	0	100	0
	E-Voting		0	0	0	0	0	0
Public-	Poll	0	0	0	0	0	0	0
Institutions	Postal Ballot (if applicable)	. 0	0	0	0	0	0	0
	Total	0	0	0	0	0	0	0
Public- Non	E-Voting		42241	0.9985	42225	16	99.9621	0.0379
Institutions	Poll	4230313	0	0	0	0	0	0
	Postal Ballot (if applicable)		0	0	0	0	0	0

Т	Гotal	4230313	42241	0.9985	42225	16	99.9621	0.0379
	Total	11487333	7017550	61.0895	7017534	16	99.9998	0.0002
Whether resolution is Pass or Not.							Yes	
Disclosure of notes on resolution								

Details of Invalid Votes						
Category	No. of Votes					
Promoter and Promoter Group						
Public Insitutions						
Public - Non Insitutions						

				Resolution(2)			
Resolution required: (Ordinary / Special)			Special					
Whether promo	oter/promoter groion?	oup are intere	sted in the	No				
Description of	resolution consid	dered		Issue of 31,50,000 Preferential basis	Equity Share	s and 10,00	,000 Convertible W	arrants on
Category	Mode of voting	No. of shares held	No. of votes polled	% of Votes polled on outstanding shares	No. of votes – in favour	No. of votes – against	% of votes in favour on votes polled	% of Votes against on votes polled
		(1)	(2)	(3)=[(2)/(1)]*100	(4)	(5)	(6)= [(4)/(2)]*100	(7)= [(5)/(2)]*100
	E-Voting	7257020	6975309	96.1181	6975309	0	100	0
Promoter and	Poll		0	0	0	0	0	0
Promoter Group	Postal Ballot (if applicable)		0	0	0	0	0	0
	Total	7257020	6975309	96.1181	6975309	0	100	0
	E-Voting	0	0	0	0	0	0	0
D 11'	Poll		0	0	0	0	0	0
Public- Institutions	Postal Ballot (if applicable)		0	0	0	0	0	0
	Total	0	0	0	0	0	0	0
	E-Voting		42241	0.9985	42225	16	99.9621	0.0379
D 11' N	Poll	4230313	0	0	0	0	0	0
Public- Non Institutions	Postal Ballot (if applicable)		0	0	0	0	0	0
	Total	4230313	42241	0.9985	42225	16	99.9621	0.0379

Total	11487333	7017550	61.0895	7017534	16	99.9998	0.0002
	ass or Not.	Yes					
Disclosure of notes on resolution							

Details of Invalid Votes						
Category	No. of Votes					
Promoter and Promoter Group						
Public Insitutions						
Public - Non Insitutions						

				Resolution(3)				
Resolution required: (Ordinary / Special)			Special	Special					
Whether promo	oter/promoter gro	oup are intere	sted in the	No					
Description of	resolution consid	lered		Change in the Reg within same ROC/		ss of the Co	ompany from one C	ity to another City	
Category	Mode of voting	No. of shares held	No. of votes polled	% of Votes polled on outstanding shares	No. of votes – in favour	No. of votes – against	% of votes in favour on votes polled	% of Votes against on votes polled	
		(1)	(2)	(3)=[(2)/(1)]*100	(4)	(5)	(6)= [(4)/(2)]*100	(7)= [(5)/(2)]*100	
	E-Voting	7257020	6975309	96.1181	6975309	0	100	0	
Promoter and	Poll		0	0	0	0	0	0	
Promoter Group	Postal Ballot (if applicable)		0	0	0	0	0	0	
	Total	7257020	6975309	96.1181	6975309	0	100	0	
	E-Voting	0	0	0	0	0	0	0	
Public-	Poll		0	0	0	0	0	0	
Institutions	Postal Ballot (if applicable)		0	0	0	0	0	0	
	Total	0	0	0	0	0	0	0	
	E-Voting		42241	0.9985	42225	16	99.9621	0.0379	
Dudalia Man	Poll	4230313	0	0	0	0	0	0	
Public- Non Institutions	Postal Ballot (if applicable)		0	0	0	0	0	0	
	Total	4230313	42241	0.9985	42225	16	99.9621	0.0379	

Total	11487333	7017550	61.0895	7017534	16	99.9998	0.0002
	Yes						
	Disclosure of notes on resolution						

Details of Invalid Votes						
Category	No. of Votes					
Promoter and Promoter Group						
Public Institutions						
Public - Non Insitutions						